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Practice C: Order of Operations Sy 55
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Simpdify sach axpression.

1. 25-3 v 60 +32 2 35048 +12-7 {33+0+96 .4

4 TT 42T 5 532 -2%. 4 (Ba20 - &%+ 7

7. 270 = 6+ 8° B (8s5%: 184 2 (810" -25.3.5

10, 88 47 77 11, 40— (5-23+ 8 (T2 s +aps s

13. 2+ 8+ 5 14 (1s2Pe(3-17e2 @:;E-dp-.-q--qz"_i:

Insert grouping symbols o make sach stabomoent true,
16 18+ 2-1+3 -38 17.4+2-2"+8+2=8 (T8 _-9-241=8

18. 2% — a5 -84 20, 38 A = B aE 2. BaT _R-d 41 =27

(Z2)A groun of students. chames $7 10 clean the axterior and 58 15
chaan the intencr of & car. They claan 9 extenons ard 5 inlerions
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the studants ramed in .
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bBookmark thal costs 52 00, and a magazine hat costs $4 00,
Senplhify the expression B85 - [5 -8 + 2 + &) io find out hos
musch money Arial rkas el




